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QUESTION 1

In MPLS, at which device are packets assigned to a FEC? 

A. LSR 

B. LER 

C. eLER 

D. iLER 

E. CE 

Correct Answer: D 

 

QUESTION 2

Click on the exhibit button below. 

Given the configuration shown, how much of a link\\'s 100Mbps reservable bandwidth can an LSP access when
configured for class-type 0 and priority 1? 

A. 10Mbps 

B. 20Mbps 
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C. 30Mpbs 

D. 60Mbps 

E. 70Mbps 

Correct Answer: E 

 

QUESTION 3

Which of the following are functions of the MPLS control plane in a router? (Choose two) 

A. Label allocation and management. 

B. Label swapping. 

C. Pushing a label on an unlabeled packet. 

D. Label signaling. 

E. Routing lookups. 

Correct Answer: AD 

 

QUESTION 4

Which of the following about MPLS fast reroute is TRUE? 

A. Fast reroute is used when redundant links are not available. 

B. Fast reroute provides path protection close to the failure point. 

C. Fast reroute provides fast failure detection to the head-end router. 

D. Fast reroute protects both primary and secondary paths. 

Correct Answer: B 

 

QUESTION 5

Which of the following can be used for label signaling and distribution on the Alcatel-Lucent 7750 SR? Choose two
answers 

A. RSVP-TE 

B. TDP 

C. LDP 

D. ADP 
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E. MPLS-TE 

Correct Answer: AC 

Latest 4A0-103 Dumps 4A0-103 Study Guide 4A0-103 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 4A0-103 Dumps | 4A0-103 Study Guide | 4A0-103 Braindumps                                4 / 4

https://www.pass4itsure.com/4a0-103.html
https://www.pass4itsure.com/4a0-103.html
https://www.pass4itsure.com/4a0-103.html
http://www.tcpdf.org
https://www.pass4itsure.com/4a0-103.html
https://www.pass4itsure.com/4a0-103.html
https://www.pass4itsure.com/4a0-103.html

